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Q = 1010

E = 20MV/m

A bell with this Q
would ring for a year.

� �� ����	
���
	��� ��
�
��� �� ����	
���
	��� ��
�
��� �� ����	
���
	��� ��
�
��� �� ����	
���
	��� ��
�
��



����������	
��

���
���������� 
��		� � � � 	� � � � � � � � � 
������� � �� � ��	� 
� � � � � � � � � � � �� ��� �   !

������������������������������������������������������������������������������������������������

188

�����������	�
�	��
�����
�	������
������������	��������������
���	������	�����	���

��������	������������� ������� ������������� �����
�� �������� ��������

� ����������������� �� �	����	����
�� ���������������������� ��� ���
����

���
� ������� �����������������
�������
������	���������
�������	��������
k

v
ω=ph

zk

ω

phv
c

MV12.2kW125

100.18R

MHz500
6

s

→
Ω=

=resf� ��
���� �� � � ! �" �� ���

� ���
����� ���
����� ���
����� ���
���� ���	

	����	

	����	

	����	

	������ �������
�
��� �������
�
��� �������
�
��� �������
�
��



����������	
��

���
���������� 
��		� � � � 	� � � � � � � � � 
������� � �� � ��	� 
� � � � � � � � � � � �� ��� �   !

������������������������������������������������������������������������������������������������

189

�����������# �����
����	������������������� ���
�����$ �������������
���� ���
����

� �	���	������������	����������	����
�%
	���������������������������	�

& 
�������	���
����	
��������	����

" �

�	�
�
���
����

λ

� �
���
	�� �����

��� �
���
	�� �����

��� �
���
	�� �����

��� �
���
	�� �����

��



����������	
��

���
���������� 
��		� � � � 	� � � � � � � � � 
������� � �� � ��	� 
� � � � � � � � � � � �� ��� �   !

������������������������������������������������������������������������������������������������

190

�����������# �����
����	������������������� ���
�����$ �������������
���� ���
����

& ��	��	����� ��
�� ���� ���� ���	����� ��
�� ����' ��� �������( �
modek� �������������������	� dnk π2=

d

� 
���� ��
�
�� �����

��� 
���� ��
�
�� �����

��� 
���� ��
�
�� �����

��� 
���� ��
�
�� �����

��



����������	
��

���
���������� 
��		� � � � 	� � � � � � � � � 
������� � �� � ��	� 
� � � � � � � � � � � �� ��� �   !

������������������������������������������������������������������������������������������������

191

' ) ( �� �	����# ����	�

� ��	�� ������� ���� ����
�
��� ��	�� ������� ���� ����
�
��� ��	�� ������� ���� ����
�
��� ��	�� ������� ���� ����
�
��

0),,0(),,( 21 =⋅∇�∂−= EtzEtzrE zz
r

r

��

' * ( �� $ �����	����
����	�

]'''[]))1(([

])([)('

002
111

2

2
1

0
2

2

0

2
00

0

appraEE

aEEaFFa

a

pzztc
v

vdz
dr

vp
q

zztc
v

z
r

vp
q

zxvp

p
px

+−≈+∂−−−=

+∂+∂−=−=

=

EBtzEtzrB tczt
r

c

���

∂=×∇�∂= 22
1

2
1

1 ),,0(),,(ϕ

( )2

2
'

4

'

2

'''
2
11

2
'

)()'''(''

'

3 p
p

p

p

p

p
p
p

p

p
p

urpaappru

prpau

pru

−=−+++−≈

+=

=
��������	
��������	
��������	
��������	


� 	� 
 ��� 
 �	�� 	� 
 ��� 
 �	�� 	� 
 ��� 
 �	�� 	� 
 ��� 
 �	� ���� � �� 	��� � � ���� �� �� 	��� � � ���� �� �� 	��� � � ���� �� �� 	��� � � ���� �

)()()cos( 0 zfzfkzt dz
d

dz
d =+− ϕω

� ��
������������ ���	����� ��������+ � , �� �������
��
��������


